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PART A — (10 x 2 = 20 marks)

7 ~ 2. Writea C routine td deallocate fhe'entire_ﬁnl{ed IiSt

"3 | Convert the exp1ess1on ((A + B) * C (D E)A(F + G)) into its equlvalent Postfix

notation,

4.+ Define a full binary tree. Give an example.

5. Write the uses of splay.-tree. ‘

6.  Write the basic properties of B tree,

7.  Whatis meant by primary clustering?

8. Define open'é_ddre'ssing hashing.

9. Define critical path.

10. What is weakly connecta;d graph? .
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"~ PARTB-— (5 16 = 80 marks)

(a). Explain the insertion delétion_ and traversal operations in a circularly.
‘doubly linked list with suitable ADT's and examples. . (16)
b Q) Write 'ADT . operations for. a linear: queué using array
. implementation,. = o L . : ' (8)
(ii) Wr’ite‘ functions to \mlﬂti‘ply two_Apolynomials uéiﬁg '}i.hke.d"list
implementation, - A ' L (8)
(a) List. the different types of Tree Traversal. Develop an algorithm for .
traversing a Binary Tree. Validate the algorithm with a suitable
Looexample. o D (18
_ | Or 2 |
) Develop an algorithm to implement a Threaded-Binary Tree. Validafe the .
algorithm with a suitable example. : , (1ey -
- “(a.). o Construct B free to insert the following key elements (cb'nsider order of - .
: ~the B treeis 3) - . A L '
55,4,44,3,6,7, 9, 45, 46, 56, 57.
S B
(B Conistruct AVL trée for the following after rotation. o (a+8+d)
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Briefly ‘describe linear probing -and quadratié probing  collision -
- G

resolution_strategies._ o ‘ . ]
Diséli-SSv about the two '.pér_miss'ible-_o.perati'ons in the dynamié

* resolution strategies.

equivalence problem. o . ®
O

Explain ‘the ‘Jélgorithm's.:\"which_; are . a:ss_oéi'a‘t'ed with path.

compression, "+ o o R )

List the advahtages “and . dié{a\d'\'zahtaigés of wvarious ‘colh'sion'

Explain the prim’s algorithm with example. - _- ' (8)

Explain topological sort with an e'xam:ple. AR - (8)

| Or ) v

Explain the Kruskél"s élgorifhm with réX'am:plé.'- ) ).
Explain the Dijkstra’s al-gorithn} with an éxarﬁple. - o (8) o
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